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   GENERAL INSTRUCTIONS IN EXAMINATION HALL 
 

A. General : 
1. This Question Paper contains 80 questions. Please check 

before starting to attempt. The question paper consists of     
Two Section : Section-A: Connceptual Section – Physics 
(1-20), Chemistry (21-40), Biology (41-60)  

     Section-B: Brilliance Section – Physics (61-65), Chemistry 
(66-70), Biology (71-80)  

v- lkekU; % 
1- bl iz'u&i=k esa 80 iz'u gSaA Ñi;k ijh{kk 'kq: djus ls igys tk¡p ysaA 

bl iz'u&i=k esa 2 Hkkx bl izdkj gSa& Hkkx&–A¼oSpkfjd Hkkx½-HkkSfrd 

foKku (1 ls 20), jlk;u foKku (21 ls 40), tho foKku (41 ls 60) 

Hkkx–B¼izfrHkk Hkkx½ HkkSfrd foKku (61 ls 65), jlk;u foKku (66 ls 70), 
tho foKku (71 ls 80)A  

 

2. Space is provided within question paper for rough work hence 
no additional sheets will be provided. 

2- jQ dk;Z djus ds fy, iz'u&i=k esa gh LFkku fn;k x;k gS vr% 

vfrfjDr :i ls dksbZ 'khV ;k isij ugha fn;k tk,xkA 

3. Blank paper, clipboard, log tables, calculators, cellular phones 
and electronic gadgets in any form are not allowed inside the 
examination hall. 

3- [kkyh dkxt] r[rh] y?kqx.kd lkj.kh] dsYdqysVj] lsy Qksu ,oa 

fdlh Hkh izdkj ds bysDVªkWfud xStsV ijh{kk gkWy esa ykuk oftZr gSA 

4. The answer sheet, a machine-gradable Objective Response 
Sheet (ORS), is provided separately. 

4- mÙkj iqfLrdk] vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ tks fd e'khu 

}kjk tk¡ph tk,xh] vyx ls iznku dh xbZ gSA 

5. Do not Tamper / mutilate the ORS or this booklet. 5- vks-vkj-,l- ;k iz'u&i=k dks fdlh Hkh izdkj ls dkaVs&NkaVs ;k eksM+s ughaA 

6. Do not break the seals of the question-paper booklet before 
instructed to do so by the invigilators. 

6- iz'u&i=k dh lhy rc rd ugha [kksysa tc rd fd fujh{kd }kjk 

funsZ'k ugha fn, tk,saA 

7. SUBMIT the ORS to the invigilator after completing the test & 
take away the test paper with you. 

7- ijh{kk lekIr gksus ds ckn vks-vkj-,l- 'khV fujh{kd dks lkSais rFkk 

iz'u&i=k vius lkFk ys tk,saA 

8. Any student found/reported using unfair means to improve his/her 
performance in the test, shall be disqualified from STaRT-2018. 

8- ;fn dksbZ fo|kFkhZ ijh{kk esa vad c<+kus ds fy, vuqfpr lk/kuksa dk iz;ksx djrk 

ik;k x;k ;k ,slk lwfpr fd;k x;k rks og STaRT-2018 ds fy, v;ksX; gksxkA 

B.  How to fill Objective Response Sheet (ORS) for filling 
details marking answers: 

9. Use only HB Pencil for filling the ORS. Do not use Gel/Ink/Felt 
pen as it might smudge the ORS. 

- vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ esa fMVsYl rFkk mÙkj vafdr 

djus ds fy, fuEu izdkj Hkjsa % 

9- vks-vkj-,l- Hkjus ds fy, dsoy HB isafly dk gh iz;ksx djsaA 

tsy@L;kgh@QsYV isu iz;ksx ugha djsaA 

10. Write your STaRT-2018 Student Registration No. in the boxes 
given at the top left corner of your ORS with blue/black ball 
point pen. Also, darken the corresponding bubbles with HB 
Pencil only. 

10- viuk  STaRT-2018 fo|kFkhZ jftLVªs'ku Øekad vks-vkj-,l- 'khV ds ck;sa dksus 

esa fn, x, LFkku esa uhys ;k dkys ckWy isu ls HkjsaA lkFk gh Øekad ds vuqlkj 

uhps fn, x;s xksyksa dks Hkh HB isafly ls xgjk djsaA 

11. If any student does not fill his/her STaRT-2018 Student 
Registration No. correctly and properly, then his/her ORS will 
not be checked/evaluated. 

11- ;fn dksbZ fo|kFkhZ viuk STaRT-2018 fo|kFkhZ jftLVªs'ku Øekad 

lgh ,oa Bhd <ax ls ugha Hkjrk gS rks mldh vks-vkj-,l- dks 

pSd@ewY;kafdr ugha fd;k tk,xkA 

12. Since it is not possible to erase and correct pen filled bubble, 
you are advised to be extremely careful while darken the 
bubble corresponding to your answer. 

12- vks-vkj-,l- esa fn, x, xksyksa dks ;fn ,d ckj ckWy isu ls xgjk 

fd;k tkrk gS rks mls feVkuk laHko ugha] blfy, fo|kFkhZ iwjh 

lrdZrk ls gh xksyksa dks xgjk djsaA 

13. Neither try to erase / rub / scratch the option nor make the 
Cross (X) mark on the option once filled. Do not scribble, 
smudge, cut, tear, or wrinkle the ORS. Do not put any stray 
marks or whitener anywhere on the ORS. 

13- ,d ckj fdlh fodYi ds xksys dks xgjk djus ds ckn feVkus ;k   

[kqjpus dk iz;Ru ugha djsaA vks-vkj-,l- 'khV ij fdlh izdkj ds 

/kCcs] xUnxh ;k flyoV u yxus nsa vkSj u gh bls eksM+sa ;k dkVsaA 

14. If there is any discrepancy between the written data and the bubbled 
data in your ORS, the bubbled data will be taken as final. 

14- ;fn fdlh lanHkZ esa fyf[kr ,oa xksyksa esa vafdr tkudkjh esa varj 

ik;k x;k rks xksyksa esa vafdr tkudkjh dks gh izekf.kd ekuk tk,xkA 
C. Question paper format and Marking scheme : 
15. For each right answer you will be awarded Section-A & B          

3 &  6 marks if you darken the bubble corresponding to the 
correct answer and zero marks if no bubble is darkened. In 
case of bubbling of incorrect answer, minus one (–1, –2) mark 
will be awarded. 

l- iz'u&i=k izk:i ,oa vad iznku fu;e %  

15- izR;sd mÙkj ds fy, Hkkx&–A ,oa B,  3 ,oa  6 vad fn, tk,xsa ;fn lgh xksys 

dks xgjk fd;k x;kA ;fn xyr xksys dks xgjk fd;k x;k rks ¼–1, –-2½ vad 

dkVk tk,xkA ;fn fdlh xksys dks Hkh xgjk ugha fd;k x;k rks 'kwU; vad fn;k 

tk,xkA 

 

Best  of  Luck 
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SECTION � A (CONCEPTUAL SECTION) Hkkx-v ¼ oSpkfjd Hkkx½ 
PART - I (PHYSICS) Hkkx- I ¼HkkSfrd foKku½ 

 

Straight Objective Type  
 This section contains (1-20) multiple choice questions. Each question has 

choices (A), (B), (C) and (D) out of which ONLY ONE is correct. 
lh/ks oLrqfu"B izdkj  

 

 bl [k.M esa (1-20) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d 

lgh gSA 

 
1. Five particles each of mass 1kg are attached to the rim of a circular disc of radius 1 m &  mass 2 Kg. 

Moment of inertia of the system about the axis passing through the centre of the disc & perpendicular to 
its plane is  

 1 fdxzk nzO;eku ds 5 d.k 1 ehVj f=kT;k ,oa 2 Kg nzO;eku dh ,d o‘Ùkh; pdrh dh ifjf/k ls tqMs gSA blds ry ds 

yEcor~ ,oa dsUnz ls gksdj xqtjus okyh v{k ds ifjr% bl fudk; dk tM+Ro vk?kw.kZ gSA 

     

 
1 kg

30º 

1 kg

1 kg
1 kg

1 kg

  
 (A) 5 kg � m2    (B) 6 kg - m2     (C) 7 kg - m2     (D) 8 kg - m2  
 
2. Four particles have velocities 1, 0, 2, 3 m/s. The root mean square velocity of the particles is: (in m/s)  
 pkj d.kksa ds osx 1, 0, 2, 3 m/s gSA d.kksa dk oxZ ek/; ewy osx (in m/s) gS %  

 (A) 3.5   (B) 3.5   (C) 1.5   (D)   
14
3  

3. Two simple harmonic motions of angular frequency 100 and 1000 rad s�1 have the same displacement 
amplitude. The ratio of their maximum acceleration is :   

 (A) 1 : 10  (B) 1 : 102  (C) 1 : 103  (D) 10 : 104 

 nks ljy vkorZ xfr;ka tks 100 rFkk 1000 rad s�1 dh dks.kh; vko`fÙk;k¡ j[krh gSA leku foLFkkiu vk;ke j[krh gSaA 

muds vf/kdre Roj.kksa dk vuqikr gksxk &     
 (A) 1 : 10  (B) 1 : 102  (C) 1 : 103  (D) 10 : 104 

 
4. For a cubical block, error in measurement of sides is + 1% and error in measurement of mass is + 2%, 

then maximum possible error in density is - 
 ?kukdkj CykWd esa Hkqtkvksa ds ekiu esa =kqfV + 1% gS] vkSj nzO;eku ekiu esa =kqfV + 2% gS rks ?kuRo ekiu esa vf/kdre 

lEHko =kqfV fdruh gksxh &  
 (A) 1%   (B) 5%   (C) 3%   (D) 7% 
 
5. To hear the echo in 1 second, the minimum distance of the source from the reflecting surface should be 

(velocity of sound = 330 m/s): 
 /ofu dh izfr/ofu 1 lsd.M esa lquus ds fy, ijkorZd i`"B ls U;wure nwjh gksxh (/ofu dh xfr = 330 m/s)A   
 (A) 28 m  (B) 18 m   (C) 19 m  (D) 165 m 
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6. In a transverse progressive wave of amplitude A, the maximum particle velocity is four times its wave 
velocity.  The wavelength of the wave is -     

 A vk;ke dh ,d vuqizLFk izxkeh rajx esa] fdlh d.k dk vf/kdre osx bl rjax osx dk pkj xquk gS] rks rjax dh 

rajx nS/;Z gS &  

 (A) 
A
4


   (B)  
A
2


  (C) A   (D) 2A 

 
7. A heat flux of 4000 J/s is to be passed through a copper rod of length 10 cm and area of cross-section 

100 sq. cm. The thermal conductivity of copper is 400 W/mC. The two ends of this rod must be kept at 
a temperature difference of�  

 10 lseh yEcs vkSj 100 oxZ lseh vuqizLFk dkV okyh ,d rk¡cs dh NM+ esa ls 4000 twy@ls- dk Å"eh; vfHkokg 

izokfgr djuk gSA rk¡cs dh Å"ek pkydrk 400 okV@eh ºC gSA NM+ ds nksuksa fljksa dks fuEu rkikUrj ij j[kuk gksxk 
 (A) 1ºC   (B) 10ºC  (C) 100ºC  (D) 1000ºC 
 

8. A ray of light incident on a plane miror at an angle of incidence of 30º. The deviation produced by the 

mirror is- 
 ,d izdk'k dh fdj.k ,d lery niZ.k ij 30º ds vkiru dks.k ij vkifrr gksrh gS] rks niZ.k }kjk iznku fd;k x;k 

fopyu gksxk& 

 (A) 30º   (B) 60º   (C) 90º   (D) 120º 
 

9. A light wave travels from glass to water. The refractive index for glass and water are 
3
2

  and 
4
3

 

respectively. The value of the critical angle will be:   

 ,d izdk'k dh rjax dk¡p ls ikuh ek/;e ls xqtjrh gS ;fn dkap o ikuh dk viorZukad Øe'k% 
3
2

 vkSj 
4
3

 gks] rks 

ØkfUrd dks.k dk eku gksxk& 

 (A) sin�1 
1

2
 
 
 

  (B) sin�1
9

8
 
 
 

  (C) sin�1
8

9
 
 
 

  (D) sin�1
5

7
 
 
 

 

 
10. A body has 80 microcoulomb of charge. Number of additional electrons on it will be : 
 ,d oLrq ij �80 ekbØks dwykWe vkos'k gSA bl ij vfrfjä bysDVªkWuksa dh la[;k gksxh : 
 (A) 8 x 10�5  (B) 80 x 1015  (C) 5 x 1014  (D) 1.28 x 10�17 

 
11. Two points (0, a) and (0, -a) have charges q and -q respectively then the electrical potential at origin will 

be- 
 (A) zero   (B) kq/a   (C) kq/2a  (D) kq/4a2 

 (0, a) rFkk (0, -a) ij Øe'k% q rFkk �q vkos'k j[ks gSa rks ewyfcUnq ij fo|qr foHko dk eku gksxk - 
 (A) ‘'kwU;  (B) kq/a   (C) kq/2a  (D) kq/4a2 

 
12. The gravitational force between two stones of mass 1 kg each separated by a distance of 1 metre in 

vacuum is -         
 fuokZr esa 1 ehVj nwjh ij fLFkr 1 kg nzO;eku ds nks iRFkjks ds e/; xq:Rokd"kZ.k cy gksxk  
 (A) Zero ('kwU;)     (B) 6.675 × 10�5 newton  
 (C) 6.675 × 10�11 newton    (D) 6.675 × 10�8 newton 
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13. The magnitude of charge in steady state on either of the plates of condenser C in the adjoining circuit 
is- 

 O;ofLFkr fp=k esa la/kkfj=k C dh izR;sd IysV ij mifLFkr vkos'k dk ifjek.k LFkk;h voLFkk esa gS & 

 

 (A) CE   (B) 2

1

CER

(R r)
  (C) 2

2

CER

(R r)
  (D) 1

2

CER

(R r)
 

 
14. The charge on a particle is 100 times that of electron. It is revolving in a circular path of radius 0.8 m at 

a frequency of 1011 revolutions per second. The magnetic field at the centre of path will be - 
 ,d vkosf'kr d.k dk vkos'k bysDVªkWu ds vkos'k dk 100 xquk gSA ;g 0.8 m f=kT;k ds o`Ùkkdkj iFk ij izfr lsd.M 

1011 pDdj yxk jgk gSA iFk ds dsUæ ij mRiUu pqEcdh; {ks=k dk eku gksxkA  

 (A) 10�7 0  (B) 
7

0

10


  (C) 10�17 0  (D) 10�6 0 

 

15. Two long parallel wires P and Q are held at a distance of 5m between them. If P and Q carry current of 
2.5 amp and 5 amp respectively in the same direction, then the magnetic field at a point half-away 
between the wires is  

 nks yEcs rkj P o Q dkxt ds ry esa 5m dh nwjh ij ,d&nwljs ds lekUrj j[ks gSA ;fn P o Q esa Øe'k% 2.5 amp 

o 5 amp dh /kkjk leku fn'kk esa çokfgr gS rks rkjksa ds e/; fcUnq ij pqEcdh; {ks=k gksxk &  

       

 (A) 0


     (B) 03

2




   (C) 0

2




   (D) 03

2




 

 
16.  If pressure at half the depth of a lake is equal to 2/3 pressure at the bottom of the lake then what is the 

depth of the lake  
 >hy dh ryh dh xgjkbZ ls vk/kh xgjkbZ ij fLFkr fdlh fcUnq ij nkc >hy dh ryh ds nkc dk 2/3  gSA >hy dh 

xgjkbZ gksxh  
 (A) 10m   (B) 20m   (C) 60m   (D) 30m 
 
17. The diameter of a brass rod is 4 mm and Young�s modulus of brass is 9 × 1010 N/m2. The force required 

to stretch by 0.1% of its length is : 
 ihry dh fdlh NM+ dk O;kl 4 feeh gS rFkk ;ax izR;kLFkrk xq.kkad 9 × 1010 N/m2 gSA NM+ dh yEckbZ esa 0.1% o`f) 

djus esa fuEu cy dh vko';drk gksxh : 
 (A) 360 N  (B) 36 N  (C) 144 × 103 N  (D) 36 × 105 N 
 
18. 540 g of ice at 0ºC is mixed with 540 g of water at 80ºC. The final temperature of the mixure is  

 0ºC ds 540 g cQZ dks 80ºC ds 540 g ikuh esa feyk;k tkrk gSA feJ.k dk vfUre rki gksxk -  
 (A) 0ºC      (B) 40ºC   
 (C) 80ºC     (D) less than 0ºC 0ºC ls de 
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19. When the resistance of copper wire is 0.1  and the radius is 1 mm, then the length of the wire is  
(specific resistance of copper is  3.14 × 10�8 ohm x m) 

 1 feeh f=kT;k ds rkacs ds rkj dk izfrjks/k 0.1  djus ds fy, rkj dh yEckbZ D;k gksxh (rkacs dk fof'k"V izfrjks/k 

3.14 × 10�8 vkse x ehVj)  
 (A) 10 cm  (B) 10 m  (C) 100 m  (D) 100 cm 
 
20. If 2 bulbs rated 2.5 W � 110 V and 100 W � 110 V are connected in series to a 220 V supply then 
 ;fn 2.5 W � 110 V rFkk 100 W � 110 V ds nks cYcksa dks 220 V dh vkiwfrZ ds lkFk Js.khØe esa tksM+rs gS rks &  

 (A)  2.5 W bulb will fuse    (B)  100 W bulb will fuse  
 (C)  both will fuse     (D)  both will not fuse  
 (A)  2.5 W dk cYc ¶;wt gks tk;sxkA  (B)  100 W dk cYc ¶;wt gks tk;sxkA 

 (C)  nksuksa ¶;wt gks tk;saxsA   (D)  nksuksa ¶;wt ugha gksaxsA 

 

  PART - II (CHEMISTRY)  Hkkx- II ¼jlk;u foKku½  
 

Straight Objective Type  
 This section contains (21-40) multiple choice questions. Each question has 

choices (A), (B), (C) and (D) out of which ONLY ONE is correct. 
lh/ks oLrqfu"B izdkj  

 

 bl [k.M esa (21-40) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ 

,d lgh gSA 

 
 

21. In the crystal structure of solid AB, atom 'A' constitute 'fcc' unit cell and atoms 'B' occupy all the 
octahedral voids in it. If all atoms aong one of the tetrad be removed then the formula of the compound 
will be :        

 AB Bksl dh fØLVyh; lajpuk esa ijek.kq 'A'  'fcc' bdkbZ dksf"Bdk esa O;ofLFkr gS rFkk ijek.kq 'B' bldh lHkh 

v"VQydh; fjfDr;ksa dks Hkjrk gSA ;fn ,d prq"d ds vuqfn'k lHkh ijek.kqvksa dks gVk fn;k tk, rc ;kSfxd dk lw=k 

gksxk & 
 (A) AB      (B) A2B    
 (C) A3B4     (D) None of these (buesa ls dksbZ ugha) 

 
22. The coagulation of 200 mL of a positive sol took place in 2 hours, when 0.73 g HCl was added to it. 

Thus, the coagulation value of HCl for the colloid is : 
 200 mL /kukRed lksy dk Ldanu 2 ?k.Vs esa gksrk gS] tc blesa 0.73 g HCl feyk;k tkrk gSA blfy, dksykWbM ds 

fy, HCl dk Ldanu eku gS &  
 (A) 10   (B) 200   (C) 50   (D) 100 
 
23. Select the incorrect statement :        
 (A) Calamine and siderite are carbonates. (B) Argentite and cuprites are oxides. 
 (C) Zinc blende and  iron-pyrite are sulphides. (D) Malachite and azurite are ores of Cu.  
 xyr dFku dk p;u dhft,&      

 (A) dSysekbu rFkk flMsjkbV dkcksZusV gSA   (B) vtsZUVkbV rFkk D;wizkbV vkWDlkbM gSA  

 (C) ftad CySaM rFkk vk;ju ikbjkbV lYQkbM gSA  (D) eSysdkbV rFkk ,tqjkbV Cu ds v;Ld gSA  
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24. Benzene and naphthalene form an ideal solution at room temperature. For this process, the False 

statement is :    

 (A) G is positive    (B) Ssystem is positive 

 (C) Ssurroundings = 0    (D) H = 0 

 csUthu vkSj us¶Fksyhu lk/kkj.k rkieku ij ,d vkn'kZ foy;u cukrs gSaA bl izØe ds fy;s xyr dFku gS 

 (A) G /kukRed gSA    (B) S¼fudk;½ /kukRed gSA 

 (C) S¼ifjos'k½ = 0     (D) H = 0 

 

25. Which cell have highest EMF  :    

 fuEu esa ls fdldk fo+-ok-c- lokZf/kd gS & 

 (A) Zn l Zn+2(0.1M) ll Zn+2(1M) l Zn  (B) Zn l Zn+2(1M) ll Zn+2(0.1M) l Zn 

 (C) Zn l Zn+2(0.1M) ll Zn+2(10M) l Zn  (D) Zn l Zn+2(1M) ll Zn+2(1M) l Zn 

 

26. The geometry of Ni(CO)4 and [Ni(PPh3)2CI2] are     

 (A) both square planar    (B) tetrahedral and square planar, respectively 

 (C) both tetrahedral    (D) square planar and tetrahedral, respectively 

 Ni(CO)4 rFkk [Ni(PPh3)2CI2] dh T;kferh gS & 

 (A) nksuksa oxkZdkj leryh;    (B) Øe'k% prq"Qydh; rFkk oxZleryh; 

 (C) nksuksa prq"Qydh;    (D) Øe'k% oxZleryh; rFkk prq"Qydh; 

 

27. Which of the following compound shows its colour due to transfer of electron from ligand to central 

matel ion (LM) ? 

 fuEu esa ls dkSulk ;kSfxd fyxs.M ls dsUnzh; /kkrq vk;u dh vksj bysDVªksu ds LFkkukUrj.k ls jax iznf'kZr djrk gS 

(LM) ? 

 (A)  K2CrO4  (B) K2MnO4  (C) ZnO  (D) All of these (mijksDr lHkh)  

 

28. The enthalpy of combustion of H2, cyclohexene (C6H10) and cyclohexane (C6H12) are � 241, � 3800 and  

� 3920 kJ / mol respectively. Heat of hydrogenation of cyclohexene is :    

 H2, lkbDyksgsDlhu (C6H10) rFkk lkbDyksgsDlsu (C6H12) ds ngu dh ,UFkSYih;ka Øe'k% � 241, � 3800 rFkk  

� 3920 kJ / mol gSa] rks lkbDyksgsDlhu dh gkbMªkstuhdj.k dh ,UFksYih gksxh & 

 (A) � 121 kJ per mol (B) + 121 kJ per mol (C) + 242 kJ per mol (D) � 242 kJ per mol 
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29. A complex (X) with empirical formula PtCl2.2NH3 observe to show the conductivity but does not produce 

AgCl when treated with AgNO3 (aq.). There is no geometrical isomer for (X). Select correct for (X) 

 (A)  It is paramagnetic  

 (B) Formula of (X) is [Pt(NH3)2Cl2]
0  

 (C) complex have O.N. of Pt = + which is [Pt(NH3)4Cl2]Cl2 

 (D) Name of complex is tetraammineplatinum (II) tetrachloridoplatinate(II). 

 ewykuqikrh lw=k PtCl2.2NH3 okyk ,d ladqy pkydrk n'kkZrk gS ysfdu tc bls AgNO3 (tyh;) ds lkFk mipkfjr 

djrs gS] rks ;g AgCl mRikfnr djrk gS ;gkW (X) ds fy, T;kfefr; leko;oh ugh gS (X) ds fy, lgh fodYi pqfu,  

 (A) ;g vuqpqEcdh; gksrk gSA 

 (B) (X) dk lw=k [Pt(NH3)2Cl2]
0 gSA 

 (C) ladqy pt dh vkWDlhdj.k la[;k Pt = + j[krk gS] tks [Pt(NH3)4Cl2]Cl2 gSA 

 (D) ladqy dk uke VsVªk,Eehu IysfVue (II) VsVªkDyksjkbMks IysfVusV (II) Gsa 

 

30. B(OH)3 + NaOH  Na[B(OH)4] (aq). The addition of which of the following promotes the reaction in 

the forward direction?       

 (A) Ethanol  (B) Hydrogen peroxide (C) Cis-diol  (D) All 

 B(OH)3 + NaOH  Na[B(OH)4] (aq). fuEu esa ls fdldks feykus ij vfHkfØ;k vxz fn'kk esa vxzsflr gksxh? 

 (A) bFksukWy  (B) gkbMªkstu ijkWDlkbM (C) fll&MkbvkWy  (D) lHkh 

 

31. The total number of cyclic structural as well as stereo isomers possible for a compound with the 

molecular formula C5H10 is       

 ,d ;kSfxd ftldk lw=k C5H10 ds lHkh pfØ; rFkk f=kfoe leko;oh;ksa dh dqy la[;k gS & 

 (A) 6   (B) 7   (C) 5   (D) 8  

 

32. Tautomerism is absent in -     

 pyko;ork vuqifLFkr gS & 

 (A) C6H5�CH=O     (B) 

 O 
Cl 

Cl 

CH3 CH3 

    

 (C) 

 O 

O 

     (D) All of these (mijksDr lHkh esa) 
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33. Which comparison is not correct as indicated ?   
 fuEu esa ls n'kkZ;h xbZ dkSulh rqyuk lgh ugha gS \ 

 (A) 
 

OH > CH3OH (acidic nature)  ¼vEyh; izd`fr½ 

 (B) 
 

NH2 > CH3NH2 (basic nature) ¼{kkjh; izd`fr½ 

 (C) 
 

CH2 > CH3CH2 (Stability)  
 

¼LFkkf;Ro½ 

 (D) 

 

COH > CH3COH (acidic nature) 

O O 

¼vEyh; izd`fr½ 

 
34. What is the decreasing order of strength of the bases given below ?  
 uhps fn;s x;s {kkjksa ds lkeF;Z dk ?kVrk Øe D;k gS \ 

 (I) OH�   (II) �
2NH   (III) H�CC�  (IV) �

3 2CH CH  
 (A) IV > II > III > I (B) III > IV > II > I (C) I > II > III > IV (D) II > III > I > IV  
 
35. Give the correct order of increasing acidity of the following compounds   
 fuEu ;kSfxdksa ds c<+rh vEyh; izd`fr dk lgh Øe dkSulk gS \ 

 (I) 
 

OH  (II) 
 

OH  (III) 
 

COOH  (IV) 
 

CCH  

 (A) II < I < IV < III (B) IV < II < I < III (C) I < II < IV < III (D) IV < I < II < III 
 
36. Colligative properties of the solution depend upon  
 (A) Nature of the solution    (B) Nature of the solvent    
 (C) Concentration of solute particles   (D) All of these 
 foy;u ds v.kqla[;d xq.k/keZ fuEu ij fuHkZj djrs gSA  
 (A) foy;u dh izd`fr ij     (B) foyk;d dh izd`fr ij  
 (C) foys; d.kksa dh lkUnzrk ij    (D) ;g lHkh 
 

37. FeCl3 on  reaction with K4[Fe(CN)6] in aq. solution gives blue colour. These are separated by a 

semipermeable membrane PQ as shown.  Due to osmosis there is- 

 (A) blue colour formation in side X           

 (B) blue colour formation in side Y 

 (C) blue colour formation in both of the sides X and Y 

 (D) no blue colour formation 

 FeCl3 , K4[Fe(CN)6] ds lkFk tyh; foy;u esa vfHkfØ;k dj uhyk jax nsrk gSaA bldks fp=k esa n'kkZ;s vuqlkj 

v)ZikjxE; f>Yyh PQ }kjk i`Fkd fd;k tkrk gSaA ijklj.k ds dkj.k ;gk¡ & 

 (A) X dh vksj uhys jax dk fuekZ.k gksrk gSA         

         (B) Y dh vksj uhys jax dk fuekZ.k gksrk gSA 

 (C) X o Y nksuksa dh vksj uhys jax dk fuekZ.k gksrk gSA  

 (D) uhys jax dk fuekZ.k ugha gksrk gSA 
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38. Which of the following can not decompose on heating to give CO2? 

 fuEu esa ls dkSulk ;kSfxd xeZ djus ij fo?kfVr gksdj CO2 xSl ugha nsrk gSa ? 

 (A) Li2CO3  (B) Na2CO3  (C) KHCO3  (D) BaCO3 

 

39. Which salt on heating does not give brown coloured gas ? 

 dkSulk yo.k xeZ djus ij Hkwjs jax dh xSl ugha nsrk gS \ 

 (A) LiNO3  (B) KNO3  (C) (NO3)2  (D) AgNO3 
 

40. NH3 and BF3 combine readily because of the formation of : 

 (A) covalent bond (B) hydrogen bond (C) coordinate bond (D) ionic bond 

 fdl ca/k ds fuekZ.k ds dkj.k NH3 rFkk BF3 vklkuh ls lg;ksftr gks tkrs gSa \   

 (A) lgla;kstd ca/k  (B) gkbMªkstu ca/k  (C) milgla;kstd ca/k  (D) vk;fud ca/k 

   

PART - III (BIOLOGY) Hkkx- III ¼tho foKku½ 
 

Straight Objective Type  
 This section contains (41-60) multiple choice questions. Each question has 

choices (A), (B), (C) and (D) out of which ONLY ONE is correct. 
lh/ks oLrqfu"B izdkj  

 

 bl [k.M esa (41-60) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ 

,d lgh gSA 

 

41.  Which of the following is incorrect about Geitonogamy and Xenogamy.   

 (A)  Xenogamy is genetically as well as ecologically cross pollination. 

 (B)  Geitonogamy is genetically self-pollination and ecologically cross pollination.   

 (C)  Geitonogamy maintains pure lines in plants while Xenogamy increases the possibility to 

 increase hybrid vigour.   

 (D)  Chasmogamous flowers are not required for Geitonogamy but required for Xenogamy. 

 ltkrh; iq"i ijkx.k (fxVksuksxseh) rFkk thuksxseh ds ckjs esa fuEu esa ls dkSulk vlR; gSA  

 (A)  thuksxseh vkuqokaf'kd :i ls rFkk ikfjfLFkfrdh :i ls ijijkx.k gSA  

 (B)  ltkrh;iq"i ijkx.k vkuqokaf'kd :i ls Loijkx.k rFkk ikfjfLFkfrdh; :i ls ijijkx.k gksrk gSaA  

 (C)  ltkrh; iq"i ijkx.k ikniksa esa 'kq) oa'kØe dks cuk, j[krk gSA tcfd thuksxseh ladj vkst esa of̀) dh 

 laHkkouk c<+k nsrh gSaA  

 (D)  ltkrh; iq"i ijkx.k eas mUewyh; iq"i vko';d ugha gSaA ysfdu thuksxseh ds fy, vko';d gSaA  
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42.  How many generative cells are required for the formation of 64 male gametes.  

 (A) 128   (B) 64   (C) 32   (D) 16 

 64 uj ;qXedks ds fuekZ.k ds fy;s fdruh tuu dksf'kdkvksa dh vko';drk gksrh gS &  

 (A) 128   (B) 64   (C) 32   (D) 16 

 

43.  Which of the following is incorrect match? 

 (A) Thyroxine - Tetraiodothyronine  (B) Oxytocin - Steroid hormone 

 (C) Estrogen - Steroid hormone   (D) Prolactin - Protein hormone 

 fuEu es ls dkSulk xyr feyku gSA 

 (A) Fkk;jkWDlhu - VsVªkvk;ksMksFkk;jksuhu   (B) vkWDlhVksflu -LVhjkWbM gkWeksZu 

 (C) ,LVªkstu - LVhjkWbM gkWeksZu   (D) izksysfDVu - izksVhu gkWeksZu 

 

44.  In male mammals, Excretory and Reproductive system share 

 a. Testes     b. Vas deferens 

 c. Urethra     d. Prostate 

 e. Seminal vesicle 

 (A) Only c   (B) c & d  (C) b, c, d & e  (D) a, b, c, d & e 

 uj Lrfu;ksa esa] mRlthZ ,oa iztuu ra=k ck¡Vrs gS 

 a. o`"k.k       b. 'kqØokgd  

 c. ew=k okfguh      d. iks:"k xzafFk  

 e. 'kqØk'k;  

 (A) dsoy c   (B) c rFkk d  (C) b, c, d rFkk e  (D) a, b, c, d rFkk e 

 

45. When domestic sewage mixes with river water      

 (A) Small animals like rats will die after drinking water      

 (B) The increased microbial activity release micronutrients such as iron   

 (C) The increased microbial activity uses up dissolves oxygen  

 (D) The river water is still suitable for drinking as impurities are only about 0.1%  

 fuEu esa ls okfgr ey unh ds ty ds lkFk feyrk gS] rks 

 (A) NksVs tUrq tSls pwgs] ty ihdj ej tk;saxsA      

 (B) vkf/kd lw{etSoh; fØ;k'khyrk] yksg tSls lw{e rRo eqDr djrh gSA   

 (C) vkf/kd lw{etSoh; fØ;k'khyrk] ?kqfyr vkWDlhtu dk miHkksx dj ysrh gSA  

 (D) unh dk ty vHkh Hkh ihus ds fy, mfpr gS] D;ksafd v'kqf);k¡ dsoy yxHkx 0.1% gksrh gSA  
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46. The Finches of Galapagos is lands provide an evidence in favour of   

 (A) Biogeographical evolution   (B) Special creation 

 (C) Lamarkism     (D) Retrogessive evolution 

 xsykisxksl }hiksa dh fQUpsa fdlds i{k esa ,d izek.k miyC/k djkrh gS\  

 (A) tSoHkkSxksfyd fodkl  (B) fo'ks"k mRifÙk  (C) ysekdZokn  (D) âkldkjh fodkl 

 

47. Which of the following is not a Hot spot in india      

 (A) Western ghat  (B) Himalayan region  (C) Indo-Berma  (D) Eastern ghat 

 fuEu eas ls dkSulk Hkkjr esa  ,d rIr LFky ;k gkWV LikWV ugha gS 

 (A) if'pe ?kkV   (B) fgeky;   (C) b.Mks-cekZ  (D) iwohZ ?kkV 

 

48.  Inflammation involves release of- 

 (A) Histamine from damaged mast cells  (B) Serotonin from damaged fibroblast cells 

 (C) Serotonin, which cause vasodilation  (D) Histamine, which cause vasoconstriction 

 iznkg esa fdldk foekspu 'kkfey gksrk gS  

 (A) {kfrxzLr ekLV dksf'kdkvksa ls fgLVkehu dk 

 (B) {kfrxzzLr QkbczksCykLV dksf'kdkvksa ls lsjksVksfuu dk  

 (C) lsjksVksfuu] dk ftlds dkj.k okfguh foLrkj.k gksrk gSA 

 (D) fgLVkehu dk] ftlds dkj.k okfguh ladqpu gksrk gS 

  

49.   Coconut water contains         

 (A)  ABA  (B) Auxin    (C) Cytokinin    (D) Gibberellin   

 ukfj;y ds ikuh esa feyrk gSa &   

 (A)  ABA  (B) vkWfDtu    (C) lkbVksdkbfuu   (D) ftOcsjyhu     

 

50. How much assimilatory power is required for the formation of 5 Glucose molecules in photosynthesis? 

 izdk'k la'ys"k.k esa 5 Xywdkst v.kqvksa ds fuekZ.k ds fy, fdruh Lokaxhdj.k {kerk dh vko';;drk gksrh gSa ? 

 (A) 18 ATP & 12 NADPH       (B) 12 ATP & 18 NADPH  

 (C) 90 ATP & 60 NADPH        (D) 60 ATP  &  90 NADPH 

 

51. Which of the following microbe is found in symbiotic association in Alnus. 

 (A) Rhizobium  (B) Pseudomonas (C) Anabaena  (D) Frankia 

 fuEu esa ls dkSulk lw{etho vYul esa lgthoh :i esa ik;k tkrk gSA 

 (A) jkbtks+fc;e  (B) L;wMkseksukl  (C) ,ukchuk  (D) ÝsfUd;k 
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52. Homologous organs explain 

 (A) convergent evolution    (B) divergent evolution  

 (C) Adaptive radiation     (D) Both (B) & (C) 

 letkr vax ls D;k fu"d"kZ fudyrk gS\ 

 (A) vfHklkjh mn~fodkl    (B) vilkjh mn~fodkl 

 (C) vuqdwfyr fofdj.k    (D)  (B) & (C) nksuksa 

 

53. The muscles immune to fatigue are       

  (A) Striped   (B) Unstriped   (C) Cardiac  (D) Both (1) and (3) 

 og is'kh tks Fkdrh ugha gS] og gS  

  (A) jsf[kr   (B) vjsf[kr   (C) ân; is'kh  (D) (1) rFkk (3) nksuksa 

 

54.  The inner ear of humans and most other mammals is sensitive to body position and balance.  What 

organ(s) is/are responsible for this?   

 (A) Semicircular canals, utricle, and saccule       (B) Cochlea and basilar membrane  

 (C) Semicircular canals alone   (D) Semicircular canals and cochlea  

 euq";ksa ,oa vf/kdka'k vU; Lrfu;ksa dk vkarfjd d.kZ 'kjhj dh fLFkfr ,oa larqyu ds izfr laosnh gksrk gSA 

dkSulk@dkSuls vax blds fy, mÙkjnk;h gksrs gSa \  

 (A) v)ZoÙkkdkj ufydk,a] ;wVªhdYk ,oa lsD;wy        (B) dkWfDy;k ,oa vk/kkjh; f>Yyh  

 (C) v)Zo`Ùkkdkj ufydk,a     (D) v)Zo`Ùkkdkj ufydk,a ,oa dkWfDY;k  

 

55. The vascular bundles of Monocot root are 

 (A) Diarch to hexarch, centrifugal, Radial (B) Polyarch, Centripetal, Conjoint, Collateral 

 (C) Tetrarch, Exarch Radial   (D) Radial, Centripetal, Polyarch 

 ,dchti=kh ewy ds laogu iwy gksrs gSA 

 (A) MkbvkdZ ls gsDtkdZ, vidsUæh;, vjh;  (B) ikWyhvkdZ, vfHkdsUæ;, la;qDr, leikf'Zod 

 (C) VsVªkdZ, ,DtkdZ, vjh;    (D) vjh;, vfHkdsUæh;, ikWyhvkdZ 

 

56. Cork cambium forms cork or phellem at outer side while secondary cortex or phelloderm towards inner 

side. The former is absent in        

 (A) Dicot root  (B) Monocot stem (C) Dicot stem  (D) None of the above 

 dkWdZ ,/kk ckgj dh vksj dkWdZ ;k QSye tcfd vanj dh vksj f}rh;d dkWVsZDl ;k QSyksMeZ cukrh gSA ;g fdlesa 

vuqifLFkr gksrh gS 

 (A) f}chti=kh ewy esa (B) ,dchti=kh rus esa  (C) f}chti=kh rus esa (D) mijksä dksbZ ugha 
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57. Nt+1 = Nt+ (b + I) � (d + E)          

 In the above equation, if the value of d + E is equal to b + I then population will 

 (A) Declining  (B) stable  (C) Expanding  (D) Non evaluated   

 Nt+1 = Nt+ (B + I) � (D + E) 

 mijksDr lehdj.k esa ;fn d + E dk eku b + I ds cjkcj gksrk gS] rks lef"V dSlh gksxh\  

 (A) ?kVrh gqbZ   (B) fLFkj   (C) izlkfjr ;k c<+rh gqbZ  (D) vkadfyr ugha dh tk ldrh 

58. Organisms, present at different places, without any traces in between show  

 (A) Speciation     (B) Discontinuous distribution 

 (C) Punctured equilibrium   (D) Migration 

 tho] tks fofHkUu LFkkuksa esa mifLFkr gksrs gSa ijUrq mudk e/; LFkkuksa esa dksbZ fu'kku (trace) ugha gksrk gSA n'kkZrs gSa & 

 (A) tkfr mn~Hkou (Speciation)   (B) vlrr forj.k (Discontinuous distribution) 

 (C) iUpMZ lkE;koLFkk (Punctured equilibrium) (D) çolu (Migration) 

 

59. Osmotic pressure of a solution is       

 (A) More than that of pure solvent  (B) Less than that of pure solvent 

 (C) Variable depending upon concentration (D) Equal to that of pure solvent 

 ,d foy;u dk ijklj.k nkc gSA    

 (A) 'kq) foyk;d ls vf/kd     (B) 'kq) foyk;d ls de  

 (C) ifjorZu 'khy] lkUærk ij fuHkZj    (D) 'kq) foyk;d ds cjkcj 

 

60. A cricket player is chasing a ball in the field. Which one of the following groups of bones is directly 

contributing in this movement?        

 (A) Pelvis, Ulna, Patella, Tarsals    (B) Sternum, Femur, Tibia, Fibula 

 (C) Tarsals, Femur, Metatarsals, Tibia   (D) Femur, Malleus, Tibia, Metatarsals 

 ,d fØdsV f[kykM+h eSnku esa ,d ckWy dk ls ihNk dj jgk gSA fuEu esa ls dkSuls lewg dh vfLFk;k¡ bl xfr esa 

izR;{k :Ik ls ;ksxnku ns jgh gS ? 

 (A) isfYol] vYuk] iVsYyk] VklZYl    (B) LVuZe] Qhej] fVfc;k] fQcqyk  

 (C) VklZYl] Qhej] esVkVklZYl] fVfc;k   (D) Qhej] esfy;l] fVfc;k] esVkVklZYl 
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SECTION � B (BRILLIANCE SECTION) Hkkx-c ¼ izfrHkk Hkkx½ 
PART - I (PHYSICS)  Hkkx- I ¼HkkSfrd foKku½ 

 

Straight Objective Type  
 This section contains (61-65) multiple choice questions. Each question has 

choices (A), (B), (C) and (D) out of which ONLY ONE is correct. 
lh/ks oLrqfu"B izdkj  

 

 bl [k.M esa (61-65) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ 

,d lgh gSA 

 

 
61. A ray of light from a denser medium strikes a rarer medium of an angle of incidence i. the reflected and 

refracted rays make an angle of 900 with each other. The angle of reflection and refraction are r and r�. 
The critical angle is-          

 ,d izdk'k dh fdj.k l?ku ek/;e ls fojy ek/;e esa vkiru dks.k i ij vkifrr gksrh gSA ijkofrZr vkSj viofrZr 

fdj.k ,d nwljs 90° dk dks.k cukrh gSA ijkorZd o viorZd dks.k r vkSj r� gSA Økafrd dks.k gksxk&   

 
 (A) sin-1 [tan r]  (B) sin-1 [cot i]  (C) sin-1 [tan r�]  (D) sin-1 [sin r�] 
 
62. A simple pendulum has a length , mass of bob m. The bob is given a charge q coulomb. The 

pendulum is suspended  in a uniform horizontal electric field of strength E as shown in figure, then 
calculate the time period of oscillation when the bob is slightly displace from its mean position is : 

 ,d ljy yksyd dh yEckbZ  o ckWc dk nzO;eku m gSA ckWc dks q dwyke vkos'k fn;k tkrk gSA yksyd fp=k esa 

n'kkZ;s vuqlkj E rhozrk ds le:i {kSfrt fo|qr {ks=k esa yVdk gS] rks tc ckWc bldh ek/; fLFkfr ls FkksM+k foLFkkfir 

fd;k tkrk gS] rc bldk nksyu dk vkorZdky Kkr djks %&    
E

q m1



 

 (A) 2
g




   (B) 
2

qE
g

m

 
  

  
 
  



  (C) 
2

qE
g

m

 
  

  
 
  



  (D) 
2

2

2
qE

g
m



 
  
 



 

 
63. The plate separation in a parallel plate condenser is d and plate area is A. If it is charged to V volt & 

battery is disconnected then the work done in increasing the plate separation to 2d will be� 
 lekUrj iV~V la/kkfj=k dh IysVksa ds chp nwjh d rFkk IysV {ks=kQy A gSA ;fn bldks V oksYV rd vkosf'kr djds cSVjh 

dks gVk fn;k tk;s rFkk vc IysVks ds chp dh nwjh dks 2d djus esa fd;k x;k dk;Z gksxk & 

 (A)   
3
2

2
0AV

d


  (B) 

2
0AV

d


  (C) 

2
02 AV

d


  (D) 

2
0AV

2d


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64. A current of i ampere is flowing in an equilateral triangle of side a. The magnetic induction at the 
centroid will be - 

 a Hkqtk ds leckgq f=kHkqt eas i ,fEi;j /kkjk izokfgr gksrh gSA f=kHkqt ds dsUæd ij pqEcdh; izsj.k gksxkA  

 (A)  
0i

3 3 a




  (B)  03 i

2 a




   (C) 05 2 i

3 a




   (D)  09 i

2 a




 

 
65. 12 cells each having the same emf are connected in series and are kept in a closed box. Some of the 

cells are wrongly connected. This battery is connected in series with an ammeter and two cells identical 
with each other and also identical with the previous cells. The current is 3 A when the external cells aid 
this battery and is 2 A when the cells oppose the battery. How many cells in the battery are wrongly 
connected?  

 (A) one   (B) two   (C) three  (D) none 
 leku fo0ok0cy ds 12 lSyksa dks Js.khØe esa tksM+dj ,d cUn cDls esa j[kk tkrk gSA dqN lsy xyr tqM+ x;s gSaA 

bl cSVjh ds lkFk nks le:i lsyksa ¼tks igys okys lsyksa ds leku gS½ o ,d vehVj dks Js.khØe esa tksM+k x;k gSA 

tc ;s lsy cSVjh dks lg;ksx djrs gS] rks ifjiFk esa /kkjk 3 A gS rFkk tc ;s fojks/k djrs gS rks /kkjk 2 A gSA cSVjh esa 
tqM+s xyr lsy gSa &  

 (A) ,d    (B) nks   (C) rhu   (D) dksbZ ugha  
 

 

PART - II (CHEMISTRY) Hkkx- II ¼jlk;u½ 
 

Straight Objective Type  
 This section contains (66-70) multiple choice questions. Each question has 

choices (A), (B), (C) and (D) out of which ONLY ONE is correct. 
lh/ks oLrqfu"B izdkj  

 

 bl [k.M esa (66-70) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ 

,d lgh gSA 
 
 

66. Identify the planes of FCC (face centred cubic) pass through the center of at least one octahedral void? 

The void may be present fully or partially within the cube.    

 FCC (Qyd dsfUnzr ?kuh; dksf"Bdk) ds ryks esa ls dkSuls ry] de ls de ,d v"VQydh; fjfDrdk ds dsUnz ls 

xqtjrs gS\ ¼fjfDrdk ?ku esa iw.kZr;k vFkok vkaf'kd :i ls mifLFkr gks ldrh gSa½  

 (A)       (B)     

 (C)      (D) Both (A) and (B) [nksuksa (A) rFkk (B)] 
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67. When 10 ml of 0.1 M acetic acid (pKa = 5.0) is titrated against 10 ml of 0.1 M ammonia solution  

(pKb = 5.0), the equivalence point occurs at pH        

 tc 0.1 M ,lhfVd vEy (pKa = 5.0) ds 10 ml dks 0.1 M veksfu;k foy;u (pKb = 5.0) ds 10 ml ds lkFk 

vuqekfir fd;k tkrk gS rks fuEu pH  ij rqY;kad fcUnq izkIr gksrk gS     

 (A) 5.0    (B) 6.0    (C) 7.0    (D) 9.0 

 

68. The activation energies of two reactions are 
1aE  and 

2aE  with 
1 2a aE E  If the temperature of the 

reacting systems is increased from T to T´, which of the following is correct ? 

 nks vfHkfØ;kvksa dh lfØ;.k mtkZ,a Øe'k% 
1aE  rFkk 

2aE  gSa tcfd 
1 2a aE E  ;fn vfHkfØ;k feJ.k dk rki c<+kdj 

T ls T´ dj fn;k tk;s rks fuEu esa ls lgh gS  ? 

 (A) 
'
1

1

K
K

 = 
'
2

2

K
K

   (B) 
'
1

1

K
K

 < 2 
'
2

2

K
K

   (C) 
'
1

1

K
K

 > 
'
2

2

K
K

   (D) 
'
1

1

K
K

 < 
'
2

2

K
K

 

 

69. For a Ist order reaction nA B whose concentration Vs time curve as shown below   

 

 
B 

A 

48 time (min) 

Conc. 

 

 If half life for the reaction is 24 mins the value of n is  

 ,d Ist 
dksfV vfHkfØ;k nA B ftldh lkUnzrk Vs le; dk xzkQ fn;k x;k gS  

 

 
B 

A 

48 time (min) 

Conc. 

 

 ;fn bldh v)Z vk;q  24 feuV gS rks n dk eku gksxk & 

 (A) 1   (B) 2   (C) 3   (D) 4  
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70. Following is the graph between (a�x)�1 and time for second order reaction A  2B, Q = tan�1 (0.5), OA 

= 2L mol�1. Here a is the initial concentration of reactant and x is its amount reacted at any time t. 

 fuEu] f}rh; dksfV vfHkfØ;k A  2B ds fy, (a�x)�1 rFkk le; ds e/; xzkQ gS] Q = tan�1 (0.5), OA = 2L mol�

1. ;gk¡ a vfHkdkjd dh izkjfEHkd lkUnzrk gS rFkk x fdlh Hkh le; t ij vfHkd`r bldh ek=kk gSA  

 

 

Q 

(a � x)�1 

A 

O 
t(min)  

 Hence rate at the start of the reaction is:    

 vr% vfHkfØ;k ds izkjEHk ij nj gS& 

 (A) 0.125 L mol�1 min�1    (B) 0.25 mol L�1 min�1  

 (C) 0.125 mol L�1 min�1    (D) 0.25 L mol�1 min�1 
  

 

PART - III (BIOLOGY) Hkkx- III ¼tho foKku½ 
 

Straight Objective Type  
 This section contains (71-80) multiple choice questions. Each question has 

choices (A), (B), (C) and (D) out of which ONLY ONE is correct. 
lh/ks oLrqfu"B izdkj  

 

 bl [k.M esa (71-80) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ 

,d lgh gSA 

 

71. Correct match w.r.t. Crop variety and resistance to disease.  
 Column I      Column II 
 Variety      Resistance to disease 
 a. Pusa Sadabahar    i. White rust 
 b.  Pusa Komal     ii. Leaf and stripe rust 
 c.  Himgiri     iii. Chilly mosaic virus 
 d.  Pusa Swarnim    iv. Bacterial blight 

 Qly dh feLe rFkk jksx ds izfrjks/kdrk ds lEcU/k esa lgh feyku gS& 

 LrEHk I       LrEHk II 

 fdLe       jksxizfrjks/kdrk 

 a. iwlk lnkcgkj       i. 'osr fdê 

 b.  iwlk dksey     ii. i.kZ rFkk /kkjh fdê 

 c.  fgefxjh     iii. fpfy ekstsd fo"kk.kq 

 d.  iwlk Lof.kZe     iv. thok.oh; vaxekjh 

 (A) a  iii, b  ii, c  iv, d   i   (B) a   iii, b  i, c  iv, d  ii 

 (C) a   iii, b  iv, c  ii, d  i   (D) a  i, b  ii, c  iv, d  iii 
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72.  Match the items given in column-I with their examples given in column-II and choose the correct 

answer. 

 Column-I     Column-ll 

 A. Free living aerobic nitrogen fixers   I. Anabaena and Nostoc 

 B. Anaerobic nitrogen fixers   II. Pseudomonas and Thiobacillus 

 C. Nitrogen fixing cyanobacteria   III.  Nitrosomonas and Nitrococcus 

 D. Denitrifying bacteria     IV. Azotobacter and Beijernickia 

 E. Nitrifying bacteria     V. Rhodospirillum 

 dkWye I esa fn;s x, ?kVdksa dks dkWye II esa fn;s x, muds mnkgj.kksa ls feykb;s rFkk lgh mÙkj dk p;u dhft,&  

 dkWye-I      dkWye-ll 

 A. eqDrthoh ok;oh; ukbVªkstu fLFkjdkjh   I. ,ukchuk ,oa ukWLVksd  

 B. vok;oh; ukbVªkstu fLFkjdkjh   II. L;wMkseksukl ,oa Fkk;kscsflyl  

 C. ukbVªkstu fLFkjdkjh lk;ukscsDVhfj;k  III.  ukbVªkslkseksukl ,oa ukbVªksdksdl  

 D. foukbVªhdkjh thok.kq    IV. ,tksVkscsDVj ,oa chtfuZfd;k  

 E. ukbVªhdkjh thok.kq    V. jksMksLikbfjye  

 (A) A-IV, B- V, C-I, D-II, E-III   (B) A-V,B-IV,C-I,D-III,E-II  

 (C) A- IV,B- V, C-V, D-III, E-I   (D) A-IV,B-III, C-I, D-II, E-V 
 

73. Match the following.       

 Column I  Column II 

A. Pyuria 1. 
High urea level in  

the blood 

B. Dysuria 2. less urine  output 

C. Oligouria 3. WBCs in the urine 

D. Uremia 4. Painful urination 

 fuEu dk feyku dhft, 

 LrEHk I  LrEHk II 

A. ikb;wfj;k 1. 
jä esa mPp ;wfj;k  

Lrj 

B. Mkblwfj;k 2. ew=k dk de fu"dklu 

C. vksfyxks;wfj;k 3. ;wfju esa WBCs 

D. ;wjsfe;k 4. nnZ;qä ew=k mRltZu 

 (A) A � 1, B � 2, C � 3, D � 4    (B) A � 3, B � 4, C � 2, D � 1 

 (C) A � 2, B � 1, C � 4, D � 3    (D) A � 4, B � 3, C � 2, D � 1  
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74. Consider the following four statements (a - d) about certain desert animals such as kangaroo rat. 

 a.  They have dark colour and high rate of reproduction and excrete solid urine 

 b.  They do not drink water, breathe at a slow rate to conserve water and have their body covered 

 with thick hairs 

 c.  They feed on dry seeds and don�t require drinking water 

 d.  They excrete very concentrated urine and do not use water to regulate body temperature. 

 Which two of the above statements for such animals are true? 

 (A) b and c  (B) c and a  (C) a and b  (D) c and d 

 dqN jsfxLrkuh tarqvksa tSls daxk: pqgsa ds ckjs esa fueu pkj dFkuksa (a - d) ij fopkj dhft,  

 a.  os xgjk dkyk jax rFkk iztuu dh mPp nj j[krs gS rFkk Bksl ew=k ókfor djrs gSaA 

 b.  os ikuh ugh ihrs gSa] ty ds laj{k.k ds fy, ,d /kheh nj ij 'olu djrs gSa rFkk mudk 'kjhj l?ku jkseksa 

 ls <dk gqvk gksrk gSA 

 c.  os lw[ks cht [kkrs gS rFkk ty ihus dh vko';drk ugh gksrhA  

 d. os vR;f/kd lkafnzr ew=k ókfor djrs gSa rFkk 'kjhj rkiØe ds fu;eu ds fy, ty dk mi;ksx ugha djrs gSa 

  ,sls tarqvksa ds fy, mi;Zqä dFkuksa esa ls dkSuls nks dFku lgh gS\   

 (A) b rFkk c   (B) c rFkk a  (C) a rFkk b  (D) c rFkk d 

 

75. (i) Darwin's fitness Reproductive fitness

(ii)
Paleontological
evidence

Fossils

(iii) Peppered moth Adaptive radiation

(iv)
Antibiotic 
resistant microbes

Evolution by 
anthropogenic action

(v)
Flippers of 
penguin and dolphins

Analogous organs

 

 Choose the option with correct points from above table 

 

(i) MkfoZu dh fQVusl iztuu'khy fQVusl
(ii) iSfyvksUVksykftdy lk{; thok'e

(iii) isiMZ iraxk vuqdwfyr fodj.k

(iv) izfrtSoh jks/kh lq{ek.kq
,UFkzkikstsfud dk;Z 

ds dkj.k mn~fodkl

(v)
isxfou rFkk 

MkWyfQu ds ¶yhilZ 
leof̀Ùk vax

 

 mijksDr rkfydk esa ls lgh fcaUnq okys fodYi dk p;u dhft;sa  

 (A) (i), (ii), (iii), (iv) (B) (i), (ii), (iii)  (C) (i), (ii), (iv), (v) (D) (ii), (iv), (v) 
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76.  How many of these statements are correct?      
 (a) Androgens are produced by Sertoli cells. 
 (b) Spermatozoa get nutrition from Sertoli cells. 
 (c) Leydig cells are found in ovary. 
 (d) Leydig cells synthesise androgens. 
 (e) Oogenesis takes place in corpus luteum. 
 (f) Menstrual cycle ceases during pregnancy. 
 (g) Presence or absence of hymen is not a reliable indicator of virginity or sexual experience. 
 (A) One   (B) Two   (C) Three   (D) Four 
 bu dFkuksa es ls fdrus lgh gSA  

 (a) ,.Mªkstu lVksZyh dksf'kdkvksa }kjk mRikfnr fd;s tkrs gaSA  
 (b) 'kqØk.kq dks lVksZyh dksf'kdkvksa ls iks"k.k feyrk gSA 

  (c) yhfMx dksf'kdk,sa vaMk'k; eas ik;h tkrh gSA  

 (d) yhfMx dksf'kdk,sa ,.Mªkstu l'ys"k.k djrh gSA 

 (e) v.Mtuu ihr fi.M esa gksrk gSA 
 (f) ekfld /keZ pØ xHkkZoLoLFkk ds nkSjku :dk jgrk gSA 

 (g) gkbeu dh mifLFkfr ;k vHkko dkSek;Z ;k ;kSu vuqHko dk ,d fo'oluh; ladsr ugah gSA  

 (A) ,d    (B) nks     (C) rhu    (D) pkj 
 

77. Match each term on the right with its definition on the left. 
       Column I       Column II 

1 All the population in a given area p Biodiversity 

2 The few abundant species in a given community q Keystone species 

3 Species that maintain community Structure r Community 

4 Species that preys but is not preyed upon s Top predator 

5 Variety among living things t Ecological dominants 
 

 (A) (p), (q) and (r) correct   (B) (p) and (q) are correct 

 (C) (q) and (s) correct    (D) (p) and (r) correct 

 ck;sa LrEHk ds izR;sd 'kCnksa dk feyku nk;sa LrEHk ds ifjHkk"kk ls lqesy dhft,&  

LrEHk I LrEHk II 

1 ,d fu/kkZfjr {ks=k dh lHkh lef"V  p tSo fofo/krk  

2 ,d fu/kkZfjr leqnk; esa dqN gh tkfr;k¡  q dhLVksu tkfr;k¡  

3 tkfr;k¡ tks lkeqnkf;d lajpuk dks cuk;s j[krh gSA  r leqnk;  

4 tkfr;k¡] tks f'kdkj rks djrh gS fdUrq fdlh dk f'kdkj ugha 

gksrh gSA  

s loksZPp ijHk{k.k  

5 lthoksa esa fofo/krk  t ikfjfLFkfrdh;  

 (A) (p), (q) rFkk (r) lgh    (B) (p) rFkk (q)lgh gSA 

 (C) (q) rFkk (s) lgh gSA    (D) (p) rFkk (r) lgh gSA 
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78.  Filtration of the blood takes place at__A__and reabsorption of Na+ under influence of aldosterone takes 

place at__B__.Select the option which correctly fills a and b  

 A B 

(A) PCT Malpighian body 

(B) DCT Collecting ducts 

(C) Collecting ducts PCT 

(D) Malpighian body DCT 

 jDr dk fuL;anu ___A___ij gksrk gS vkSj ,YMksLVsjksu ds izHkko esa Na+ 
dk iqujko'kks"k.k___B___ij gksrk gSA ml 

fodYi dk p;u dhft,] tks lgh izdkj ls A o B dh iwfrZ djrk gSA  

 

 

79. Match column I with column II  

        Column I                Column II 

A. Parthenocarpy (i) Seed formation is predetermined 

B. Perisperm (ii) Seed formation without fertilisation 

C. Apomixis (iii) Formation of seedless fruits without fertilisation 

D. Cleistogamy (iv)  Remain of nucellus. 

 dkWye I rFkk II dks lqesfyr dhft,&  

dkWye I dkWye II 

A. vfu"ksdQyu  (i) cht fuekZ.k]iwoZ fuf'pr gSA  

B. ifjHkwz.kiks"k  (ii) fu"kspu ds fcuk cht fuekZ.k  

C. vlaxtuu  (iii) fu"kspu ds fcuk cht jfgr Qy dk cuuk  

D. vuqUehY;rk  (iv)  chtk.Mdk; dk cpk gqvk Hkkx  

 

 (A) A � iv, B � ii, C � iii, D � i    (B) A � iii, B � iv, C � ii, D � i 

 (C) A � iii, B � iv, C � i, D � ii   (D) A � ii, B � iv, C � i, D � iii 
 

 A B 

(A) PCT esYih?kh dk;  

(B) DCT laxzkgd ufydk  

(C) laxzkgd ufydk PCT 

(D) esYih?kh dk; DCT 
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80. Match the following 

 Colum I     Colum II 

 A. Salmonella typhi    1. Yersinia Pestis  

 B. Syphilis     2. Trypanosoma 

 C. Plague     3. Entamoeba histolytica 

 D. Sleeping sickness    4. Treponema pallidum 

 E. Amoebiasis     5. Widal test 

 fuEufyf[kr dk lqesy dhft,& 

 LrEHk�I      LrEHk�II 

 A. lkYeksusyk VkbQh    1. ;jflfu;k isfLVl   

 B. flfQfyl     2. fVªIukslksek  

 C. Iysx      3. ,UVvehck fgLVksfyfVdk  

 D. vfunzk jksx     4. fVªiksuhek iSyhMe 

 E. vehfc;kfll     5. foMky ijh{k.k  

 (A) A-5, B-4, C-1, D-2, E-3   (B) A-4, B-5, C-1, D-3, E-2  

 (C) A-4, B-5, C-1, D-2, E-3 (D) A-5, B-4, C-2, D-3, E-1 
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ANSWER KEY 

 

RESOSTART 2018 (SAMPLE TEST PAPER) XII 

 

 
1. (B) 2. (B) 3. (B) 4. (B) 5. (D) 6. (B) 7. (C) 

8. (D) 9. (C) 10. (C) 11. (A) 12. (C) 13. (C) 14. (D) 

15. (C) 16.  (B) 17. (A) 18. (A) 19. (B) 20. (A) 21. (A) 

22. (D) 23. (B) 24. (A) 25. (C) 26. (C) 27. (A) 28. (A) 

29. (D) 30. (C) 31. (B) 32. (D) 33. (B) 34. (A) 35. (B) 

36. (C) 37. (D) 38. (B) 39. (B) 40. (C) 41.  (D)  42. (C) 

43.  (B) 44.  (A)  45. (C) 46. (A) 47. (D) 48.  (A) 49.   (C) 

50. (C) 51. (D)  52. (D) 53. (C) 54.  (A)  55. (D) 56. (B) 

57. (B) 58. (B) 59. (A) 60. (C) 61. (A) 62. (D) 63. (D) 

64. (D) 65. (A) 66. (D) 67. (C) 68. (C) 69. (C) 70. (C) 

71. (C) 72.  (A) 73. (B)  74. (A) 75. (C) 76.  (D) 77. (C) 

78.  (D) 79. (B) 80. (A) 
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